s
rE
]
N
o
N
N
[N}
@)
B
ro
o
Ho
rg
\]
=
i
m
2
o)
o
alle}
1)
N
rlo
o
__)&‘
H1

P2 BEGU ©] YA=F ZHolE F cm? LAY

@ 112cm? @ 116 cm? 3)120 cm?

@ 144 cm? ® 168 cm?

AEHA & O Wol= 2x2 =4(cm?)

I BF2 A|HA 7718 22 Aol2x WY &
TSHH 6 x 7 = 42(7H)

= Ho] HAA

L
1o
>
rr
(=2}
=
En)
£
i
ju
=
L
2
2
rr




the T Zo] Fo] Hlo] gl AAEF ] BHolt B am? Y

7
2cm
2cm 2cm
X =
\
| | \
I | \
| | \
' ' 8cm
I I ,
I I )
I I )
d__1 /
AT 1T~y
N
@ 175.84 cm? @ 178.98 cm? @ 200.96 cm?

@ 207.24 cm? @251.2 cm?

B

(U] Ho]) =3x3x3.14—1x1x3.14

= 28.26 — 3.14 = 25.12( cm?)
(BP2E 9ylo]) = 6 x 3.14 x 8 = 150.72( cm?)
(SFZ Fylo]) = 2x 3.14 x 8 = 50.24( cm?)
(AA AHol) = 25.12 x 2 + 150.72 + 50.24

= 251.2( cm?)




o]y vt 50| Fofst

SE Aute 7t

®24Y @307 O 3679 @40‘%1 ® 441




93 Hole sty gy

HA Fo] 92 £0]7} 80m
Flole g wf7t2] o] &A1 A=

_{n [SAURN

@® 270m @ 320m @405m @ 515m ® 564m

= WA Ho] 22 %o]7l 80m o] BE AWA Fo| o2 ko|S
oet st
= =80 9|4 D=80+2 —80x2 =100
5 5 4
= WA Fo] 22 o] 100m YUt
4 32 gojrd £o]E a5
4 4 5
ax =100 01]/\‘1A=100+g=100><1 =125

Z A 52 9ol =ol& 125m Y Yth
w2bA Fo] F #A Flol & f7tx] o] 2A < A= 125 +
100 x 2 4 80 = 405(m) YU ot




